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Menu | m | |2|§ﬁ| Set| Cycle | | £ BA Distance Time
[Conditioning] o
[
o
W-up 50 x 10 1 105" [(F#)oO—)L (EBEMFER1/3) 500 0:10:50
[{B#])ro—)L (EAMER1/5)
Main-S 50 X 4 4 110" [1AXB]) 125m /\—K+375m /—>— 800 0:18:40
[2A 8] 25m /\—K+25m /1 —>—
[3A&B]) 37.5m /\—F+125m 4/ —>—
[4A B8] 50m /\—F
Xty A=30~45%)
PorS 50 X 4 1 105" T+—3Y 200 0:04:20
XKIA—LEDRYMEREZD
P 50 X 3 3 120" 25md D RHh—Y 45/ HO—)L 450 0:12:00
[1tykB] 78U RRA—D) 05 (FoyF)
[2tyrB]) SRKILAA—Y2 5 (FIL)
[3tyrBl V7 RA—UH (Tvia)
Xty AR=7L
S 50 X 5 1 105" TH—3I25 250 0:05:25
XEH—BOREDKEF!
C-down 100 X 1 1 300" &8 100 0:03:00

Total 2300 0:54:15
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Menu | m | |2|§ﬁ| Set | Cycle £ BA Distance Time
[ Conditioning]
W-up 50 10 1’10” [(F#)oO—)L (EBEMFER1/3) 500 0:11:40
[{B#])ro—)L (EAMER1/5)
Main-S 50 4 1°15” [1AXB]) 125m /\—K+375m /—>— 800 0:20:00
[2A 8] 25m /\—K+25m /1 —>—
[3A&B]) 37.5m /\—F+125m 4/ —>—
[4A B8] 50m /\—F
Xty A=30~45%)
PorS 50 3 1710” Tr—3IV5 150 0:03:30
XKIA—LEDRYMEREZD
P 50 3 1’ 20" 25md D RHh—Y 45/ HO—)L 450 0:12:00
[1tykB] 78U RRA—D) 05 (FoyF)
[2tyrB]) SRKILAA—Y2 5 (FIL)
[3tyrB] VFZRAA—)H (Tyia)
Xty AM=7%L
S 50 4 1°10” TH—3I25 200 0:04:40
XEA—BDREDKEE!
C-down 100 1 3’ 00” &8 100 0:03:00
Total 2200 0:54:50
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Menu | m | |2|§ﬁ| Set| Cycle £ BA Distance Time
[Conditioning] o
[
[
W-up 50 8 1’15” [(F#)oO—)L (EBEMFER1/3) 400 0:10:00
[{B#])ro—)L (EAMER1/5)
Main-S 50 4 4 120" [1AXB]) 125m /\—K+375m /—>— 800 0:21:20
[2A 8] 25m /\—K+25m /1 —>—
[3A&B]) 37.5m /\—F+125m 4/ —>—
[4A B8] 50m /\—F
Xty A=30~45%)
PorS 50 3 1 115" Tr—3IV5 150 0:03:45
XKIA—LEDRYMEREZD
P 50 3 3 125" 25md D RHh—Y 45/ HO—)L 450 0:12:45
[1tykB] 78U RRA—D) 05 (FoyF)
[2tyrB]) SRKILAA—Y2 5 (FIL)
[3tyrBl V7 RA—UH (Tvia)
Xty AM=7%L
S 50 3 1 115" TH—3I25 150 0:03:45
XEA—BDREDKEE!
C-down 100 1 1 300" &8 100 0:03:00
Total 2050 0:54:35
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Menu | m | |2|§ﬁ| Set| Cycle £ BA Distance Time
[Conditioning] o
[
[
W-up 50 8 1’ 25” [(F#)oO—)L (EBEMFER1/3) 400 0:11:20
[{B#])ro—)L (EAMER1/5)
Main-S 50 4 3 130" [1AXB]) 125m /\—K+375m /—>— 600 0:18:00
[2A 8] 25m /\—K+25m /1 —>—
[3A&B]) 37.5m /\—F+125m 4/ —>—
[4A B8] 50m /\—F
Xty A=30~45%)
PorS 50 3 1 125 Tr—3IV5 150 0:04:15
XKIA—LEDRYMEREZD
P 50 3 3 135" 25md D RHh—Y 45/ HO—)L 450 0:14:15
[1tykB] 78U RRA—D) 05 (FoyF)
[2tyrB]) SRKILAA—Y2 5 (FIL)
[3tyrBl V7 RA—UH (Tvia)
Xty AM=7%L
S 50 3 1 125" TH—3I25 150 0:04:15
XEA—BDREDKEE!
C-down 100 1 1 300" &8 100 0:03:00
Total 1850 0:55:05




